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Solve each equation.

1)  150 = -6 - 3(7x - 3) 2)  117 = 3 - 3(-5v - 8)

3)  -5x - 7(x + 6) = -90 4)  -4n - 5n = 3(-7n + 1) - 3(5 - 4n)

5)  -6(x + 7) = 6(1 - 2x) - 6 6)  -3(4 + 6v) + 6 = -4(1 + 5v)

7)  7(-1 + v) = 3v - (2 + v) 8)  -8(4 + 5p) = -7(1 + 5p)

Solve each equation for the indicated variable.

9)  a + k = v - w , for a 10)  g = y + x + c , for x

11)  ka = w - v , for a 12)  c - a = d  + r , for a

Solve each absolute value equation.

13)  5 3p  = 105 14)  3 + 4a  + 1 = 14
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15)  
-3v - 5

2
 = 4

16)  -9 + 4n - 8  = 19

Solve each proportion.

17)  
m - 7

5
 = 
m
4

18)  
4

b
 = 

3

b + 4

Solve each inequality and graph its solution.

19)  4(3 + 6b) > 84

-2 -1 0 1 2 3 4 5 6 7 8

20)  -110 £ -5(2x + 6)

2 3 4 5 6 7 8 9 10 11 12

Solve each compound inequality and graph its solution.

21)  -27 < 8x + 5 £ -11

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4

22)  3m + 9 > 15 or 7 - 7m > 56

-10 -8 -6 -4 -2 0 2 4 6
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Given the standard form of the line, find the x- and y-intercepts. Then sketch the graph of each
line.  For slope-intercpets, apply rise over run when graphing the line.

23)  5x + 2y = -2

x

y
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-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

24)  8x - 5y = 15

x

y
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25)  x + 2y = -2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6
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26)  x - y = -2

x

y
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27)  y = 
9

4
x - 5

x

y
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28)  y = 
3

5
x + 3

x

y
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29)  3y + 6 = -5x

x

y
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-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

30)  -x - 2 = 0

x

y
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Write the slope-intercept form of the equation of each line.

31)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

32)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4
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33)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

34)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form of the equation of the line through the given points.

35)  through: (0, -2) and (1, 2) 36)  through: (-1, 0) and (-2, 4)

Write the slope-intercept form of the equation of the line described.

37)  through: (-2, 4),  parallel to y = -
5

2
x - 5 38)  through: (4, 1),  perp. to y = -

3

2
x - 1

Solve each system by graphing.

39)  x - 4y = -8
3x - 2y = 6

x

y
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40)  3x - y = -4
3x - y = -2
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y
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Solve each system by elimination.

41)  9x - 5y = 18
10x - 2y = -12

42)  4x - 8y = 20
5x - 9y = 26

43)  5x - 10y = -10
3x + 7y = 20

Solve each system by substitution.

44)  -x - 6y = -21
-8x - 3y = 12

45)  3x - 2y = 8
-6x + 5y = -8

46)  8x - 3y = -7
16x - 6y = -14

47)  DeShawn and Alberto are selling fruit for a school fundraiser.  Customers can buy small boxes of
grapefruit and large boxes of grapefruit.  DeShawn sold 3 small boxes of grapefruit and 3 large
boxes of grapefruit for a total of $84.  Alberto sold 8 small boxes of grapefruit and 6 large boxes
of grapefruit for a total of $196.  What is the cost each of one small box of grapefruit and one
large box of grapefruit?

48)  Jennifer and Eugene each improved their yards by planting hostas and ivy.  They bought their
supplies from the same store.  Jennifer spent $98 on 1 hosta and 8 pots of ivy.  Eugene spent $114
on 7 hostas and 4 pots of ivy.  What is the cost of one hosta and the cost of one pot of ivy?



©F J2N0_2H3x qKMuztmaf _SqosfNtiwmaMrueX kLILNCq.J C aAFlDlL HrqiYgRhItvs_ rrHePsjeOrTvmemda.V a sM[aSdye_ Ew[iltBhj XIsn`fEiQnNiVtYeb mAlltgvedb[rkaO u1`.

Worksheet by Kuta Software LLC

-7-

Sketch the solution to each system of inequalities.

49)  y ³ -2
x - y > 1

x
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50)  2x + y < 1
2x - y > 3
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Simplify.  Your answer should contain only positive exponents.

51)  
(n-1)-1

2mn3
 × 2m4

52)  ( x-2y3
 × 2y

2y2 )-2

Simplify.

53)  -4 108m4n4 54)  -6 27u2v

Simplify each expression.

55)  (4n4 - 5n) - (n4 - 8 - n) 56)  (7n + 4) + (8n + 7n2 + 2)

57)  (5r + 3r3) - (5r - 8 - 7r3) 58)  (8b - 1) + (6b + 7b3 - 3)
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Find each product.

59)  (2n - 2)(n + 8) 60)  (6x - 8)(3x - 6)

61)  (x + 4)(2x - 8) 62)  (6n - 1)(6n + 5)

63)  (6x - 7y)(2x - 4y) 64)  (8u + v)(5u - 8v)

Factor each completely.

65)  n2 - n 66)  p2 + 15p + 54

67)  p2 - 3p - 4 68)  3k2 + 6k - 189

69)  3m2 + 4m 70)  42m2 + 300m - 288

71)  2r2 - 17r + 30 72)  45a2 + 260a - 60

73)  9x2 + 24x - 20 74)  8x2 + 26x + 21
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75)  4k2 + 4k + 1 76)  25r2 + 20r + 4

77)  9a2 + 6a + 1 78)  100a2 - 36

Sketch the graph of each function.

79)  y = -(x - 2)2
 + 4

x

y

-1 1 2 3 4 5
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80)  y = 2(x + 4)2
 - 4
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y
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Solve each equation by factoring.

81)  b2 + 56 = 15b 82)  n2 = 3n + 4

83)  r2 - r = 2 84)  n2 - 12 = 4n

85)  7x2 - 5x = 6x2 86)  b2 = 6b



©g ^2v0[2t3D _KkuAt\aB hSZo^fkt]wBa`r[eb WLALKCW.B H GAMlalI LrciUgdhSttsn Rrcels[eYrHvheKdN.m F uMTaydceX Swmiktqhn TIjnxfZignHi]tPee ZAhlggsekbWrzaD n1U.

Worksheet by Kuta Software LLC

-10-

87)  a2 + 16a + 16 = 6a 88)  x2 - 48 = 2x

Solve each equation by taking square roots.

89)  -6 - 8v2 = -134 90)  100x2 - 5 = -4

91)  7m2 + 10 = 17 92)  7 - 2x2 = -65

Simplify. Rationalize the denominator when necessary.

93)  
5 2

2 5
94)  

9

5 6

95)  
4

5
96)  

2 5

2 3

97)  
5 2

5 6
98)  

4

5 6

99)  
4 5

2 3


